Multiplication de Deux Binomes (G)

Simplifiez chaque expression.

1 (82% — 322)(72° + 72)

2. (=927 — 5z)(—32% + 82%)

3. (—8¢" — 3¢%)(—8¢° + 9¢%)

(T =5 (=9 + 2f7)

5. (—6g° + 29)(—8¢g + 8)

6. (—2w® — w)(—w* — 3w?)

-3

(=6f +2)(=67 +8f")

08

(=8¢ — 69°)(g — 8)

e

). (—2h* + 20%)(6h° — 3h?)

10. (8b* — 56%)(—6b + 5)

MathsLibres.com




Multiplication de Deux Binomes (G) Réponses

Simplifiez chaque expression.

C(82% = 322) (7% + 72)
= 562° 4+ 352% — 2123

)

(=92 — 52)(—32° +‘822)
= 272° — 5721 — 4023

w

- (—8¢" — 3¢%)(—8¢° + 9¢%)
= 64q" — 48¢° — 27¢°

(T =5 (=97 +2f%)
= —63f° 459> — 10f*

- (—69° +29)(—8g + 8)
= 48¢° — 64¢> + 164

Ut

6. (—2w° — wh)(—w* — 3w?)
= 2w” + Tw® + 3w’

(=6f +2)(—6f°+8fY
=36f° —60f° + 16*

=~

- (—8¢° — 6g%)(g — 8)
= —8¢" + 58¢> + 484>

09

(—=2n* + 2R%)(6R° — 3h?)
= —12h" + 18h° — 6K°

©

10. (86" — 5b%)(—6b + 5)
= —48b° 4+ 70b* — 2507
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